Public Opinion – Final Examination

Answer the multiple choice in printed capital letters

1. C                                                 16. A 
2. D                                                 17. C
3. B                                                 18. B
4. D                                                 19. D
5. C                                                 20. B

6. D                                                 

7. D                                                  

8. A                                                 

9. D                                                 

10. C                                                

11. A                                               

12. C                                               

13. C                                               

14. D                                               
15. D                                               

For 2 points each,

1. What did the Literary Digest Poll of 1932 demonstrate?

    a. that polls could be quite accurate              c. the value of randomness 

    b. the value of reading                                    d.  the problem of question wording

2. By comparison to other types of sampling, what is wrong with “quota sampling”?

    a. the questions may mean different           c. the poor tend to constitute too large a  

        things to different respondents                      portion of the sample                   

    b. nonattitudes tend to be greater than with  d. no sample based on quotas is large     

        most other forms of sampling                       enough for reliable inference
3. What did the early voting studies find?

     a. the electorate was surprising                     c. politics was rather important to 

         knowledgeable                                                most voters

     b. few voters possessed a political                d. none of these

         ideology

4. Which of the following is true?

    a. most voters identify themselves                 c. domestic issues tend to help the 

        as liberals                                                    Republicans relative to the Democrats

    b. surprisingly, voters tended to see         d. polarization is more pronounced at the 

        Bush as being more liberal than Gore            elite, as opposed to the mass, level.

5. Which of the following is most responsible for reducing the level of political trust?

    a. policy differences                            c. process differences
    b. increasing levels of education         d. an increasingly aged population 

6. What was the primary assumption of the early sociological voting studies?

    a. people behave politically as            c. people behave politically as their

        they are psychologically                      parents behaved 

    b. people behave politically as            d. people behave politically as they
        they are economically                          are socially
7. What is the impact of “policy mood” on elections?

    a. surprising, it seems to have little      c. since the mood measure is quite new,

        impact                                                     we lack data for enough elections over

    b. it does have an impact, but it is            time to say much

        primarily on low information           d. none of these
        contests (typically local)

8. Why isn’t the impact of a person’s economic circumstances (e.g., being 
unemployed) a better predictor of their vote?

    a. people often blame themselves,           c. government policies do not have

        not the government, for their                   much impact on people

        circumstances                                      d. none of these

    b. people simply don’t know enough

        about government policy to

        criticize it

9. According to results discussed in class, if all voters had perfect knowledgeable of

    
presidential candidates’ positions on issues, which of the following would 
occur?

    a. turnout would decrease, but not          c. the Democratic party would gain votes

        by much

    b. the incumbent president would           d. none of these
        gain votes

10. The ability of respondents to make “tradeoffs” (what are they willing to give up 
in order to attain a goal) is important in making public opinion useful to 
politicians.  Concerning respondents making tradeoffs, what did the research 
reviewed in class indicate?

      a. respondents are willing to make         c. if the questions make it very easy to
          tradeoffs if questions will permit            make tradeoffs, most respondents 

          it                                                                 will
      b. only highly knowledgeable                 d. none of these

          respondents will make tradeoffs 

11. According to Erikson and Tedin (page 24), how accurate were the polls in the 
1992 presidential election?

      a. quite accurate - the average was       c. it illustrates the utility of both the mean 

           within about 2% of the final vote        and the standard deviation: both “A” 

       b. surprisingly about 1/3 of the major     and “B” are true

           polls picked the loser to win                 d. none of these

12. According to Erikson and Tedin (page 54), how does the level of political 

       
knowledge today compare with 50 years ago?

       a. it is noticeably greater                           c. it is about the same
       b. it is noticeably lower                             d. due to an absence of reliable polls       

                                                                               from earlier periods, we do not know

13. According to Erikson and Tedin (pages 148-149), how does tolerance toward 
one’s least-liked group today compare with 40-50 years ago?

       a. it is noticeably greater                           c. it is about the same
       b. it is noticeably lower                             

14. According to Erikson and Tedin (page 174), of the following is true concerning a

      
person’s background and their opinions?

      a. as education increases tolerance           c. as income increases support for

          decreases                                                     civil rights decreases

      b. as education increases support             d. as income increases support for
          for internationalism decreases                  liberal economic positions decreases
15. According to Erikson and Tedin (pages 241-243), how do “floating” voters 
compare with “non-floating” voters?

      a. more partisan                                         c. less persuadable by commercials  

      b. more likely to vote                                d.  less well-informed
16. According to Erikson and Tedin (page 302), Democratic party control leads to 
which of the following?

      a. gains for low income groups                 c. has no effect on low income groups

      b. losses for low income groups               d.  results in higher unemployment 

17. How do Erikson, MacKuen and Stimson differ from Jacobs and Shapiro 
concerning the relationship between public opinion and public policy? 

      a. although they use different methods,   c. Erikson and Tedin find a stronger 


their findings are rather similar            relationship than Jacobs and Shapiro
      b. Jacobs and Shapiro find a stronger          

          relationship than Erikson and Tedin    d. none of these      

18. According to Erikson and Tedin (pages 282-283), how accurately do legislators 
read the opinion of their constituents?

      a. what the authors say is that              c. before politics became so polarized, they

          legislators do not try to read it                   read it more accurately

      b. actually, they read it rather             d. none of these

          accurately 

19.  What is the “mobilization” theory of realignment? (Erikson/Tedin, p. 137)

      a. a party mobilizes voters who                 c. a party mobilizes independent voters

          use to vote for the opposition party      d. a party mobilizes young voters
      b. a party mobilizes its own voters who

          have recently failed to vote

20. According to Erikson and Tedin (page 87), how does support for civil rights 
differ between the commitment to abstract goals and the policies to 
implement them?

      a. the public does not tend to support              c. while not that supportive of the 

          the abstract goals nor the policies to       abstract goals, the public is noticeably

          implement them                                               more supportive of the policies

      b. the public is more supportive of                      to implement them

          abstract goals than policies to implement    d. none of these   

          them                                                               

Short Answer Questions: Questions 21-45 are each worth 3 
points while the final 
question (#46) is worth 5 points
21. According to Erikson, MacKuen, and Stimson, how do changes in public 
opinion (expressed as public mood) impact public policy?


Quite a bit.  The more liberal public mood, the more liberal policy becomes 
by both direct and indirect (election of more Democrats) paths. 

22. According to R. Kent Weaver (article on welfare policy), under what 
circumstances do politicians pander to public opinion?

 
Manza, Cook and Page, 121: if four criteria are met: 1 – the issue is 
highly salient to voters; 2 – the status quo is highly unpopular; 3 – 
the politician’s ideal point is far from the voter’s ideal point; 4 – the 
issue is framed as one of an alternative versus an unpopular status 
quo.
23. According to Herbst study of Illinois state legislators, how much impact do 
opinion polls have on public policy?   Why?


Not much.   Polls don’t reveal how the public evaluates policy tradeoffs;


don’t deal with the specific policies the legislature is considering; don’t 
measure intensity.  (Manza, Cook and Page, pp. 173-174) 

24. According to Manski, what are the advantages of probability polling? 


(be specific: don’t say something like “greater accuracy” – why might there 
be “greater accuracy”?


254-255: 1 – A well defined numerical scale for expressing 
uncertainty; 2 – empirical assessment of the internal consistency 
and external accuracy of respondent’s expectations is possible – 
researcher can compare elicited subjective probabilities with known 
event frequencies; 3 – usefulness of elicited expectations in 
predicting future outcomes
25. What did Gilens find about what influenced the attitudes of white voters 
concerning welfare?

      
The image they had of African-American welfare recipients had a large 
effect, but not the image they had of white welfare recipients.  (Manza, Cook 
and Page, pp. 236-237) 

26.  According to Cook, Barabus and Page, how much support is there for 
privatization of Social Security after a discussion of both the “pros” and 
“cons”?


(166-167: not that much: when given a choice between a stock 
market account with no guarantees and a government guaranteed 
benefit plan, only about 1/3 favored the stock market plan)
27.  Given how much of the benefit of the Bush Tax Cuts goes to the very wealthy, 
why are the cuts popular?


People overly upwardly identify:  they think either that they are in the top 
1%, or will get there.  Also, economic inequality doesn’t bother Americans 
that much.

28.  What are the five factors that cause the U.S. to have such a strong commitment 
to “absolutist individualism”?


Great Affluence, Frontier Experience, Agrarian Experience, Ethnic Diversity 
and Lateness of the Industrial Revolution

29.  What is the impact of post-materialism (e.g., environmentalism) on the policy 
outcomes favorable to the working class?


Makes policy outcomes less favorable to the working class because the time 
and attention of Congress is on policy areas that are of more importance to 
the upper income voters.

30. According to the article by Taeku Lee, what limitations of polling were 
revealed during the civil rights era? 


(Manza, et. al., pp. 300-301: 1 – racism – polls about civil rights were 
rare before the civil rights era and were conducted typically on 
whites – presuming we “knew” what the opinion of African-
Americans was; 2 – that polls lagged events and hence, could not 
be used to assess opinion formation – i.e., polls were only 
conducted after events occurred – we need to know what triggered 
the events/what moved people to riot, etc.)
31. Define: Ideology

           A set of interrelated attitudes that fit together into some coherent

          and consistent view of or orientation toward the political world.

              (Flanigan and Zingale, Political Behavior, 9th ed., p. 126)

32. What makes a Sample “Random”?

             Selection is random if every unit (person, field, whatever) in the group we 

                 care about (population) had an exactly equal chance of being chosen.

33. In the “Marginal Substitution Rate,” what is being “substituted” for what?

            The number of percentage points unemployment would have to decrease

            if inflation increased by 1% for the President’s support to remain the same. 

34. The Median Voter (be careful how you define “median”)

            The voter in the ideological middle of the electorate (i.e., half more liberal 


and half more conservative)

35. According to the “Retrospective Voting Model,” how does a voter decide which 
candidate or party to vote for?

             Retrospective means that the voter looks back over the term of office of the

              incumbent candidate or party and bases their vote on the degree of 

              contentment with what the incumbent has done.  (J/S, p. 13)

36. How popular would political reforms that shift some Congressional power to the 
public be with the public?


Not very.  The public wants “out” of the political process.  They do not the 
conflict that is the very essence of politics.  They do not see politicians as 
incompetent.

37. What is “Constraint” (as used in this course – it pertains to ideology)

       Constraint implies interlocking ideas, hence, consistency

38. How would Converse define “Nonattitudes”?  How prevalent are they?

      
The expression of preferences for policy alternatives that are entirely without 

       
meaning to the respondent, made up on the spot and promptly forgotten. 
Much of what is measured in surveys is nonattitudes. 

39. The impact of the National Automobile Dealer’s Association’s campaign 

      contributions on legislator voting on an issue of interest to the association

             Legislator ideology, not the campaign contributions of the NADA, seemed to

             the important factor in explain legislator voting on the issue of interest to the

             NADA. 

40. What two factors lead to change in “Policy Mood”?

     
1.  In general, whichever side is in office, the electorate moves in the opposite 

          

direction.  Thus, counter-cyclical.

      
2. Economic optimism: personal and social goals story. Bad times retreat to 


personal goals (e.g., lower taxes); good times/confidence is the reverse, 

emphasis on social goals, the things government does; clean air to 


income equality.

41. When surveyed at different points in time, the same person may take a different 
position on an issue (e.g., being infavor of national health insurance at one 
time, opposing it at another).  According to Zaller, why and how does such 
opinion change take place?  You need to explain Zaller’s model well.  Answer 
such as “they thought about it” won’t receive any points.    

       People possess “considerations,” (e.g., equality and freedom) and when 
answering survey questions they pick the “consideration” that is at the “top 
of their head.”

42. What is the significance of classifying the prototypical voter as “symbolically

       conservative and operationally liberal”?

      
It means that many voters who classify themselves as “conservatives” often

       
take liberal positions on government spending (e.g., more spending on the

       
environment or education)

43. The “coalition of minorities” effect on presidential popularity

      
Over time a president’s popularity decreases because each action they take

      
alienates some segment of the population and these “alienated minorities” 
then fail to support the president

44. Politically, when does it make sense for a President to ignore current public 
opinion?  


When Presidents possess the policy levers sufficient to determine 
real world conditions upon which the public will ultimately judge 
them at election time, they should ignore present opinion as 
expressed in polls and produce those outcomes that will correspond 
to what public opinion will likely be at the next election.

45. In terms of the “rationality” of change in public opinion, how can the following 
statement be true: the electorate is individually irrational but collectively 
rational.

 
While many citizens may not know that much about an issue, change in the 

distribution of opinion occurs by more knowledgeable citizens changing their 
opinion and moving an aggregate indicator such as the percent who support, 
or oppose, a particular policy.

46.  According to Jacobs and Shapiro, why are politicians becoming less responsive 
to centrist public opinion? (worth 5 points)


The direct primary caused party activists to become more important and 
party leaders less important which resulted in more extremist candidates, 
greater cohesion within the parties, a greater difference between the parties, 
and a larger number of interest groups that can mobilize particular groups 
of voters. (Manza, Cook and Page, pp. 59-61)





EXTRA MATERIAL

21. According to Jacobs and Shapiro (page 15), what is wrong with both the median voter    

      retrospective voting models?  

      a. neither can account for the decline in       c. both “A” and “B” are true

          responsiveness since the 1970s 

      b. they both assume that politicians              d. none of these

          have almost no knowledge of 

          public opinion

22. According to Jacobs and Shapiro (page 5), which of the following is responsible for 

      the decline in politicians’ responsiveness to centrist public opinion? 

      a. nonattitudes by voters                               c. decreasing partisan polarization       

      b. media preoccupation with                             by both elites and masses

          political conflict                                        d. all of these

23. According to Jacobs and Shapiro (pages 63-64), what is the impact of media coverage

      of political conflict on the chances for adopting reformist policies?

      a. increases the chance for reformist                    c. increases the chance because it

          policies because conflict makes                           encourages interest groups 

          voters pay more attention and greater                  supporting reformist policies

          attention leads to more input to leaders           d. none of these
      b. increases the chance for reformist policies

          because it boosts the efforts of reformers

          more than opponents

24. According to Jacobs and Shapiro (page 80), what was the central goal behind 

     Clinton’s pursuit of national health care?

      a. universal coverage                     c. to increase the size of the federal government         

      b. political expediency                   d. reduce the rate of increase in health care costs
25. According to Jacobs and Shapiro (pages 115-116), what was the primary reason

      the Clinton health care plan failed?

      a. Clinton over-estimated his ability           c. the plan was too geared to cost  

          to mold public opinion                                containment and not enough to

      b. the plan failed to provide universal             expanding medical research

          coverage                                                  d. Both “B” and “C”

26. According to Jacobs and Shapiro (pages 125-126), of what use were public opinion

      polls to politicians with respect to Clinton’s health care plan?   

      a. the polls were quite helpful                     c. politicians did not see the polls as
      b. the polls were helpful, but primarily          credible
          to Democratic congressman who            d. none of these

          had previously won by small

          margins

27. According to Jacobs and Shapiro (page 221-222), on what is public opinion most

      changeable?

      a. fundamental values                                c. attitudes toward the political system

      b. attitudes toward a specific                     d. surprisingly, “A” and “B” are about    

          policy such as the Clinton                          equally true

          health care plan 

28. According to Jacobs and Shapiro (pages 282-283), to what extent did Clinton follow 

      the polls on affirmative action?  

      a. he did when his popularity was low        c. he never followed the polls on
      b. he did when his popularity was high           affirmative action
29. According to Jacobs and Shapiro (page 266), how consistent was the Republicans’

      “Contract with America” with public opinion?

      a. although not perfectly consistent,          c. it was very close on economic issues

          it was relatively close                                 but not that close on social issues

      b. it was extremely close to                       d.  it was not all that close to public 

          public opinion                                             opinion
30. What two standards do Jacobs and Shapiro (pages 305-306) suggest for testing to

       see if a policy contrary to public opinion should be pursued by policy makers?

       a. consensus of leaders of different         c. that the public would support the 

           ideologies and a belief that the                policy if it were more well-informed 

           public would support the policy              and that foreign leaders agree with it

           if it were more well-informed              d. that the public would support the

       b. consensus of leaders of different              policy if it were more well-informed

           ideologies and a belief that it                   and that it was obvious that the policy

           would not uphold minority rights            would produce the desired results

44. How would Jacobs and Shapiro (pages 334-337) change how the media covers

      politics? 

      (1) Have the media report poll results frequently and (2) ask politicians who 
stray from centrist public opinion why they do.

30. What is the difference between the “delegate” and “trustee” models?


Delegate: you vote as you think those who elected you want; Trustee:


you vote your conscience/what you think is best  

